Sintered bronze bearing
with non-migrating lubricant

Chrome plated
guide rods

Anodized aluminum
tooling plate

Low friction
cupseal-integral rod

Common Features

Nason’s LC series of pneumatic guided load
actuators were designed to be compact,
long lasting, load carrying devices for today’s
demanding design requirements. They are
offered in various mounting styles, bores,
and strokes to fill the need of today’s

design engineers.

Actuator

The LC series guided cylinder actuator is based
on Nason'’s LH cylinder. Extended internal rod
bearing, wear banded piston, and integral rod
wiper are all standard. Precision machined
components, self-lubricating bearings, and
PTFE impregnated lubricant ensure long life
and continued low friction operation.

Guiding Mechanism

Oversized, chrome plated guide rods riding in
specially formulated sintered bronze bearings
provide rigid load carrying capability. Guide rods

Double wound 302
SS retaining wire

Fabric reinforced
phenol resin wear strip

Machine bore
anodized aluminum
housing

Low friction figure
8 piston seal

Magnet for position sensing

are located externally of the sealed cylinder
chamber but inside the overall envelope of the
cylinder. The guide rods are extended past the
cylinder housing to ensure no finger trap exists.
The guide rods are piloted into the tooling plate
to provide more rigidity and ease of disassembly
for modification.

Tooling Plate

Tooling plates are thick, anodized aluminum and
are provided with tapped through holes for direct
mounting, or through mounting, into your part.

Magnetic Piston Sensing

Magnetic piston and sensor mounting tracks
are included as standard. See the sensor
section for Nason’s solid state sensor selection
(sold separately).

Rebuildable
All LC series cylinders are field rebuildable.

WWW.COMOSO0.Com

0y
w
X
m
0
O
-




LC SERIES

How to Order 64
Engineering Data 65
12mm Bore 66
20mm Bore 67
25mm Bore 68
28.5mm Bore 69
32mm Bore 70
40mm Bore 71
50mm Bore 72
63mm Bore 73

4
V4
l
-
y 4
Q
O
LL
O
Ll
-
<
-

WWW.COMOSO0.Com



64

How to Order

Example:

Part Number: LC-20X40MR-EMHS

6] - [20] x [®] [ ] [WA] - [ew] (][]
MODEL BORE STROKE TYPE MOUNTING OPTIONS
MODEL MOUNTING

LC - Non-Rotating, Guided Load cylinder

MR - Threads on Rear Face (Opposite Rod)

BORE

12 - 12mm (

A7
20 - 20mm (.79"
.98

)

)
25 - 25mm (.98")
28.5 - 28.5mm (1.13")

32 - 32mm (1.26"

40 - 40mm (1.58"

)

( )
50 - 50mm (1.97")
63 - 63mm (2.48")

STROKE

See Stroke Table

TYPE

Blank (No Code) - Double Acting, Single Rod

D - Double Acting, Double Rod

MS - Threads on Side of Cylinder Body

FR - Flange on Rear Face (Opposite Rod)

PR - Pivot on Rear Face

OPTIONS

EM - InchThreads (Mounting, Ports, and Tooling Plate)
(See product pages for sizes)

HS - High Temperature Seals -10 C to 150 C(0 Fto 302 F)
(Available on LE and LH Models Only)

BP - Blank Tooling Plate (No Holes)

PE - 1/4 Ports (Available on 50 and 63mm Bores)
With EM Option

UB - Urethane Shock Pads Both Ends
(20 thru 63mm Bores)

UF - Urethane Shock Pad Front (Rod End)
(20 thru 63mm Bores)

UR - Urethane Shock Pad Rear (Opposite Rod)
(20 thru 83mm Bores)

WwWw.COmMOosO0.com




Operating Media:

Maximum Operating Pressure:

Air (Clean, Dry or Lubricated)
17 Bar (250 PSI)

-10 Ct0 95 C (0 F to 200 F)
Buna N

PTFE impregnated grease
+0,75mm/-0mm (+0.03"/-0")

Operating Temperature:
Packing:
Lubrication:

Stroke Tolerance:

Piston Area Chart

Load Chart

1. Loads based on .08mm (.003") deflection
up to 25mm stroke and .16mm (.006")
deflection over 25mm stroke and maxi-
mum life.

2. Rotational tolerance = +/ .5 degree

3. Speed controls or external shock

absorbers are recommended to reduce
impact and extend cylinder life.

LC-63

— LC-50

LC-40

LC-28.5

LC-32

LC-12

Cylinder Output Force Formula
Piston Area x Pressure = Output Force
Ibf (Pounds Force)

Piston Area (in?) x Pressure (PSI) =

Piston Area (cm?) x Pressure (kg/cm?) = kgf (Kilograms Force)

2!

Piston Area (cm?) x Pressure (Bar) x 10 = Newtons

m
m
m
m

(
(cm?) (

Piston Area (cm?) x Pressure (kg/cm?) x 9.8 = Newtons
(cm?) (
(cm?) (

Piston Area (cm?) x Pressure (Bar) x 1.02 = kgf (Kilograms Force)

WwWw.COmMOosO0.com

10.89 (24)
Bore Push Pull 1043 23)
(Rod Extend) (Rod Retract) 9.98 (22)
12 | 1,13 cm? (18 1m) 0,85 cm? (.14 in?) .
20 | 3,14 cm? (.48 in?) 2,64 cm? (.40 in?) 8.62(19)
8.16 (18)
25 | 4,91 cm? (.76 in?) 4,12 cm? (.64 in?) 77107)
28.5| 6,41 crr? (1.0 im?) 5,28 cm? (.82 in?) 72508
6.80 (15)
32 | 8,04 cm?(1.251im?) 6,91 cm? (1.07 in?) 6.35 (14) |—
40 |12,56 cm? (1.95i0) | 10,55 cm? (1.64 in?) 7 ij:z:
50 19,63 cm? (3.04in) | 17,62 cm? (2.73in? 2 asm
< 454 (10) ——
63 (31,17 cme (4.83in9) | 28,03 cm® (4.341m) | S e
3.63 (8) —
3.18 (7) —‘l—
Stock Stroke Table i
Bore Standard Stroke Lengths 18169
1.36 (3)
12 15, 25, 40 91
a5()
2 15, 25, 40, 50 S
) , , 23 (.50)
25 11 (:25)
28.5 12.7, 25.4, 38.1, 50.8 0
5 (.20)
32
15, 25, 40, 50
40
50
15, 25, 40, 50, 75
63

15 (.59)

25 (.98) 40 (1.57) 50 (1.97) 75 (2.95)

STROKE mm (in)



Rear Mount Cylinder "MR"

MODEL |STANDARD STROKES| __"A" PISTON AREA Standard Threads| "EM" Option
15mm .| PUSH1,13cm (0.181n ) B M4X0,7 #8-32
LC 25mm 36,0(1.42") _ " M5X0,8 #10-32
40mm PULL085cm (0.14in ) "D’ M4X0,7 #3-32
o
T 4STK
1935@‘ 2.5010") 2o,(7>9§o
(.75") 8,0(.32") |— (79"
12,0(.47" }
(47) 7,6(.30" | 6.4(25) 13,5(.53")
“ L 600240 (2 PLACES)
Wi 6,0(.24") 41017 3,3(.13"
rfe [ | : L
T e {
S | Jx 12,0047 ] 13,5(.53")
s 00 [ E N AN i 1 AN
-1 '  pevesdvie
|
Y
8,0( 315X Lo PORT
"D" TAP X 10,4(.41") DP SENSOR TRACK
"B'TAPTHRU ~ 25(107DP (2 PLACES) (2 PLACES) v (2 PLACES,
(2 PLACES) 180 APART)
Side Mount Cylinder "MS"
MODEL |STANDARD STROKES[ __"A" PISTON AREA Standard Threads| "EM" Option
15mm PUSH 1,18cm (0.181n) B M4X0,7 #8-32
LC 25mm 36,0(1.42") , "C" M5X0,8 #10-32
Zomm PULL 0,85 cm (0.14in ) o MBX0.5 #2140
19,0 SQ. 8,0(.32") —| S’_AFK
(75" ol
8,0( 315" X 1,5(.06") DP
12,0(47" ;
8,0( 315" X (47°) 7,6(.30" - 6,425
] l— 9,0(.35") 2,5(.10") DP _\ A‘ l-1— 6,0(.24") " (2 PLACES)
6.0(.24) 41(17"
wi .
J — [ 7o - [ | P
=N S o
- { z——\@ [ 12X 12,0(47") i /
_é — 10,0(.39") \rL i 1 — /
AT ‘ —RZ v d
T T T 1 L
\.. ) ) Y\— SENSOR TRACK “C" PORT
D" TAP X 4,5(.18") DP (2 PLACES, (2 PLACES)
(2 PLACES) 180 APART)
4,0(.16") "B" TAP THRU
(2 PLACES)

66

il -

MODEL

b x L]

BORE STROKE

15mm - 40mm STROKE J
(SEE CHART ABOVE)

MR - REAR MOUNT

MS - SIDE MOUNT

FR - REAR FLANGE —

PR - PIVOT REA

(-

MOUNTING

[ ]

OPTIONS

SENSORS SOLD SEPERATELY

SKS, SKP, SCS, SCP - SOLID STATE
LIMIT SENSORS

(SEE CATALOG PAGE 54 FOR DETAILS)

EM - INCH THREADS & PORT OPTIONS:

HS - HIGH TEMPERATURE SEALS OPTION:
(SEE CATALOG PAGE 62 FOR DETAILS)

BP - BLANK TOOLING PLATE

(SEE PAGE 58- 60 FOR DETAILS)

WwWw.COmMOosO0.com




Rear Mount Cylinder "MR"

MODEL | TYPE | STANDARD STROKES| __"A" PISTON AREA Standard Threads| "EM" Option
15mm , X MaX0,7 #5832
25mm . PUSH 3,14 cm (0.481in) ok M5X0.6 #1032
e | -P 40mm 83,5(1.82') I} M5X0,8 #1032
PULL 2,64 cm (0.401in ) :
50mm
TYPED
. A 13,0(51")
50250197 +STK. +STK 31,75(1.25")
. sQ.
13,0(51") — 10
135 | ) T 83 [T
(53" 0,15(.36") —— sariot
; 6,9(27") — 5.37(.
— 6.75(27") - (2 PLACES)
5,37
[ 6.75(27" 6425 [
i aﬁ$ —1—'
X W | P 2 | N 21,0
z 18558) | b [ g / (859
SENSOR TRACK
10,0( .394) X (2 PLACES,
2,5(.10") DP 90 APART) D* TAP X 11,2044 DP
'8 TAP THRU (2 PLACES)
(2 PLACES)
Side Mount Cylinder "MS"
MODEL | TYPE | STANDARD STROKES| __"A" PISTON AREA Standard Threads| "EM" Option
1 = M4X0,7 #8-32
Smm PUSH 3,14 cm (0.481n ) = 0. 83
o 5 25mm 58,5152 c MBX0,8 #1032
40mm PULL 2,64 cm (0.401in ) ‘D" M4X0,7 #8-32
50mm
o
+STK. TYPED
30,25(1.19") N 13,0(51")
0 13,0(51") oSt
135 9,15(.36") ——
8,0( 315" X 2,5(10" DP (53"
6.9(27")
L 6,75(27") (2 PLACES)
o — 10039  10,0( .394")X o
251000 \| 675027 r @
\ = l, 8,0(.32") T '
zn s 2 W | |j e T A
, | 214D 18553) | P [ a
_¢__(R_—‘.: 13,0(.51") ‘ﬁ* @
' Y SENSOR TRACK
"D" TAP X 5,8(23") DP (2 PLACES, o PORT
(2 PLACES) 90 APART) (2 PLACES)
5,0(:20") “B" TAP THRU
(2 PLACES)
10,0(:39")

9 - ) ]

MODEL

BORE STROKE

15mm - 50mm STF%OKEJ
(SEE CHART ABOVE)

BLANK - NO CODE
D - DOUBLE ROD

(SEE PAGE 64 FOR DETAILS)

67

MR - REAR MOUNT
MS - SIDE MOUNT
FR - REAR FLANGE —

.

TYPE MOUNT

PR - PIVOT REAR
(SEE PAGE 58-60 FOR DETAILS)

L -]

ING OPTIONS

WwWw.COmMOosO0.com

SENSORS SOLD SEPERATELY

SKS, SKP, SCS, SCP - SOLID STATE
LIMIT SENSORS

(SEE CATALOG PAGE 54 FOR DETAILS)

— EM - INCH THREADS & PORT OPTIONS:

— HS - HIGH TEMPERATURE SEALS OPTION:

(SEE CATALOG PAGE 62 FOR DETAILS)

— BP - BLANK TOOLING PLATE

— UB, UF, UR - URETHANE SHOCK PAD OPTION

(SEE CATALOG PAGE 62 FOR DETAILS)




68

Rear Mount Cylinder "MR"

MODEL | TYPE | STANDARD STROKES[ __"A" PISTON AREA Standard Threads| "EM" Option
15mm , "B MBX0,8 #10-32
e | PusH491em (0.760n) ol NBX0.8 #1032
LC _D 34,0(1.34") o
40mm PULL 4,12 cm (0.641n ) D MBX0,8 #10-32
50mm ‘ ' = M6X1,0 1/4-20
15’0 nAu
(59" +STK.
33,5(1.32") 35,0(1.38")
sQ. TYPED sQ.
21,0 ;
o 9,15 15,0(.59")
(83 (367 7 [T +STK L 285 1
L 10,5(.41") (1.00°
6,9(.27") ’
10,0( .394") X — (2 PLACES) l— 4,75(.19")
"B" TAP THRU / 2,5(.10") DP 475
(2 PLACES) _\ 10,5(417) r 6,1(24°) '( (19
o TI;L ===y T,
" N " 7 ,
13,5(.53") A 1 21,0(83") 7 v (1007
1 ok ¢
6,75(.27") v
7ol zEgLi%F; 'SI'RACK 'C" PORT /
’ 2 PLACES neyn "
"E" TAP THRU 90 APART) ( ) (;3})&2&1)1,2(.44 )OP
(2 PLACES)
— 6,75(27")
13,5(.53")
Side Mount Cylinder "MS"
MODEL | TYPE | STANDARD STROKES[ __"A" PISTON AREA Standard Threads| "EM" Option
15mm , "B’ M5X0,8 #10-32
o 5 25mm 34,001,348 PUSH 4,91 cm (0.761in ) ok M5X0.3 #1032
B 40mm | PuLL4t2om (064in) ek b o #6832
50mm : ' = M6X1,0 1/4-20
; 15,0 "
33,5(1.32 —
! (59" +STK.
210 | 915 TYPED
8,0( .315") X (.83" (3'6,,) N I 15,0(.59")
2,5(.10") DP L 10,5(.41") : +STK
|} 12,0047") 10,0( .394") X 6,9(.27")
"B" TAP THRU 2,5(.10") DP (2 PLACES)
(2 PLACES) )
95 10,5(.41") [ 612
T (37" Ly 7¢_ g [ | —=— 3 5 :
\ | 13,5(.53") . B ' 21,0(.83") 7 q
1
PR 14,0(.55") f J v
6.0 ' 6.78(.27") SENSOR TRACK "C* PORT
(24" (2 PLACES, (2 PLACES)
12,0 "E" TAP THRU 90 APART)
- =T a4 (2 PLACES)
. 6,75(.27")
"D" TAP X 5,8(.23") DP .
(2 PLACES) 13,5(53") —

) - ) ]

MODEL

BORE STROKE TYPE

15mm - 50mm STROKEJ
(SEE CHART ABOVE)

BLANK - NO CODE
D - DOUBLE ROD

(SEE PAGE 64 FOR DETAILS)

MR - REAR MOUNT
MS - SIDE MOUNT
FR - REAR FLANGE —

PR - PIVOT REAR

L -]

MOUNTING

OPTIONS

LIMIT SENSORS

SENSORS SOLD SEPERATELY
SKS, SKP, SCS, SCP - SOLID STATE

(SEE CATALOG PAGE 54 FOR DETAILS)

— EM - INCH THREADS & PORT OPTIONS:

— HS - HIGH TEMPERATURE SEALS OPTION:
(SEE CATALOG PAGE 62 FOR DETAILS)

— BP - BLANK TOOLING PLATE

— UB, UF, UR - URETHANE SHOCK PAD OPTION

(SEE CATALOG PAGE 62 FOR DETAILS)

(SEE PAGE 58-60 FOR DETAILS)

WwWw.COmMOosO0.com



Rear Mount Cylinder "MR"

MODEL [ TYPE [STANDARD STROKES|  "A" PISTON AREA
12,7(50") ,
. 5 25.401.00") 56.1(1.50" PUSH 6,41 cm  (0.991in )
- 38,1(1.50") o :
50.8(2.00) PULL 5,28 cm (0.821in )
" - A" 38,1(1.50"
36’6(;51.4 ) +STK. TYPED (SQ. )
16,0068 —| |- 16,0(.63")
20,2(.80")  —=f - +STK 1 2
. 9.15 a1
e (860 | [ 7,1(28") )
12,7( 500" X (2 PLACES) l— 4,819"
/ 3.0(12") DP
4,06(.16") DRILL THRU 6,4(.25") \
(2 PLACES) R 10,1(.40") .19'(4,8)
W , . P
J—_bq {éa- =D & 1 28,6 'V?@ﬁ* “_L286
11,9(.47" z X 20,2(.80" ’ q 1.13" '
(47" KT 1 (:807) / 3 4189 7t (1139
' . t = S
5,8(.23" T L\ je-27 poRT '
8289 SENSOR TRACK @ ,;LACES)
5,5(.22) DRILL THRU 3,3(.13") -
(2 PLACES) ) 1/4-20 TAP X 16,0(.63") DP
| |— 9,1(36") (2 PLACES)
3,2( .13") X 6,4(.25") DP
18,3(.72")  — | (PIN LOCATOR)
Side Mount Cylinder "MS"
MODEL [ TYPE [STANDARD STROKES[  "A" PISTON AREA
12,7(.50" ,
( ) PUSH 6,41 cm (0.99in )
lc | _D gg‘m '28,,; 38,1(1.50")
L PULL 5,2 82
50.82.007) ULL 5,28 cm (0.82in )
- "A"
36,6(1.44") + STK. PED
sQ. b
160063 —| |- 16;0@?( )
#6-32 TAP X 3,8(.15") DP 20,2(.80") -
2 PLACES) L =L 1010407 9,15
4,0(.16") DRILL THRU ' 36" | [
(2 PLACES)
1192 12,7( 500" X 7,1(.28"
= [ (a4 /3,0(.12") DP “ (2 PLACES)
" " 6,4
— 11,2(.44") N 10,1(.40") ‘ [ (29
‘ = f | Q .</<> —LL > — 1
D 20488  11.9(47") Z T X—r 20,2(.80") i q
Y
'+'_|__ ' 1 1 J & ﬁ ' =]
w Y
T — 7,1(.28" 58(.23) \ SENSOR TRACK 1/8-27 PORT
16,7 A (2 PLACES)
(.66") 5,5(.22") DRILL THRU
] 10,4 (2 PLACES)
(41" 1 9,1(36Y
12,7( 500" X .
2.3,00") DP 18,3(72")  — |

) - 8 x

- |:| |:| SENSORS SOLD
SKS, SKP, SCS, SCP - SOLID STATE

MODEL  BORE STROKE ~ TYPE  MOUNTING OPTIONS LIMIT SENSORS

12,7(.50") - 50,8(2.00”)J
STROKE
(SEE CHART ABOVE)

BLANK - NO CODE
D - DOUBLE ROD
(SEE PAGE 64 FOR DETAILS)

MR - REAR MOUNT
MS - SIDE MOUNT
FR - REAR FLANGE —
PR - PIVOT REAR

(SEE CATALOG PAGE 54 FOR DETAILS)

SEPERATELY

HS - HIGH TEMPERATURE SEALS OPTION:
(SEE CATALOG PAGE 62 FOR DETAILS)

BP - BLANK TOOLING PLATE

UB, UF, UR - URETHANE SHOCK PAD OPTION
(SEE CATALOG PAGE 62 FOR DETAILS)

69 (SEE PAGE 58-60 FOR DETAILS)
WwWw.COmMOosO0.com



Rear Mount Cylinder "MR"

MODEL | TYPE | STANDARD STROKES "A" PISTON AREA Standard Threads | "EM" Option
15mm . "B" M5X0,8 #10-32
" 5 25mm —— PUSH 8,04 cm (1.251n ) "C" | _G1/8 PORT /827
- 40mm o PULL 6,91 cm (1.071in ) o M6X1,0 1/4-20
50mm ’ "E" M6X1,0 1/4-20
TYPED
A 15,0(.59")
40,0(1.58") +STK. +STK 42,0(1.65")
sQ. 15.0 N e sa.
21,0 (599 (1.24")
(83"
L | 105041 (9323_. 8,4(33") — 5,25(21")
: (2 PLACES)
12,0( 473" X 5,25
"B" TAP THRU 2,5(.10") DP (21
(2 PLACES) 71028%
W '- 10,5(.41") At
A% oS 70y
L Pl P | B T
13,5(.53") @ : ' 21,0(83") 7 i l\f (1247
f ] 7% 0 \ 1 = I 1
6,75(.27") SENSOR TRACK "G PORT
(2 PLACES, (2 PLACES) "D" TAP X 16,0(.63") DP
"E" TAP THRU 90 APART) (2 PLACES)
(2 PLACES)
6,75(.27")
13,5(.53")
Side Mount Cylinder "MS"
MODEL | TYPE | STANDARD STROKES "A" PISTON AREA Standard Threads | "EM" Option
15mm , "B M5X0,8 #10-32
o o 25mm 57,5148 PUSH 8,04 cm (1.251in) ol G1/8 PORT /827
- 40mm o PULL 6,91 cm (1.071in ) o M4Xx0,7 #8-32
50mm ' ' "E" M6X1,0 1/4-20
40,0(1.58") A 1?0'(3_29'?)
SQ. +STK. ~ isTK
21,0
10,0( .394") X (.83") 15,0
2,5(.10") DP F=| |~—— 10,5(.41") (:59") = 8,4(.33")
120 "B" TAP THRU (2 PLACES)
) (2 PLACES) / 12,0( 473
2,5(.10")
12,5(49") 10,5 9 15 — 7.1(.28")
W (41" I
E_ ‘ ‘ T 70y 7N 1
>4 1 . =
| M o 135058 L ZL )" 4 21,0(.83" va
18,2 6:9 f 25.0(98% ' ﬁ*&@ .
(72) == J aii ==
Y
6,75(.27")
” SENSOR TRACK 'o* PORT
| |-— 6,0(.24" (2 PLACES, (2 PLACES)
e 1200479 "E" TAP THRU 90 APART)
(2 PLACES)
6,75(.27")
"D" TAP X 5,8(.18") DP 13,5
(4 PLACES) (:68")
SENSORS SOLD SEPERATELY
- X E E - ] E L] SKS, SKP, SCS, SCP - SOLID STATE
MODEL  BORE STROKE  TYPE  MOUNTING OPTIONS l(_Sll\IélllzT(js,’!\ET’\,lAnggsPAGE 54 FOR DETAILS)
15mm - 50mm STROKEJ - _ .
(SEE CHART ABOVE) EM - INCH THREADS & PORT OPTIONS:
BLANK - NO CODE — HS - HIGH TEMPERATURE SEALS OPTION:

70

D - DOUBLE ROD

(SEE PA

GE 64 FOR DETAILS)

MR - REAR MOUNT
MS - SIDE MOUNT

FR - REAR FLANGE —
PR - PIVOT REAR

(SEE PAGE 58-60 FOR DETAILS)

WwWw.COmMOosO0.com

(SEE CATALOG PAGE 62 FOR DETAILS)

— BP - BLANK TOOLING PLATE

— UB, UF, UR - URETHANE SHOCK PAD OPTION
(SEE CATALOG PAGE 62 FOR DETAILS)




Rear Mount Cylinder "MR"

MODEL | TYPE | STANDARD STROKES "A" PISTON AREA Standard Threads | "EM" Option
15mm PUSH 12,56 1951 "B M6X1,0 1/4-20
25mm } ,56.cm (1.951n ) "C G1/8 PORT 1/8-27
LG =P 40 45(1.787 D" M6X1,0 1/4-20
mm PULL 10,55 cm (1.641in ) , -
50mm
TYPED
A 15,0 (59"
48,0 (1.89") + STK. + STK 50,0 gdggu)
sQ. 15,0 - '
25,5 (59) 3810"
(100 12,45 159
|~ 12,75 (507 (40— 9,9 (39" —| |—— 6,0(24"
. (2 PLACES)
12,5 ( .492") X 6,0
/ 2,5(.10") DP (:24")
’ 8,7 (:34")
W 12,75 (50" r
2 Fom— 3] j_L
oF 2179 ] hid A< f 9\ 38,0
21,0 (83" & 25,5 (1.00") 7 q ‘\ / (1.50%
! ] Y ==t LONED 1
10,5 (41") SENSOR TRACK “C" PORT
(2 PLACES, (2 PLACES) "D" TAP X 16,0 (.63") DP
"B" TAP THRU 90 APART) (2 PLACES)
(4 PLACES)
10,5 (41"
21,0(:83")
Side Mount Cylinder "MS"
MODEL | TYPE | STANDARD STROKES "A" PISTON AREA Standard Threads | "EM" Option
15mm . "‘B" M6X1,0 1/4-20
25mm o [PUSH1286.0m (1.950n ) 'C" | _Gi/BPORT | /827
LC -b 40mm 45(1.78) "D" M4X0,7 #8-32
PULL 10,55 cm (1.64in ) '
50mm
TYPED
A 15,0 (59"
48,0 (1.89") + STK. + STK
sQ.
15,0
25,5 (.59") I~
12,0( 473X (1.00"
25(107 0P —| |~ 12,75 (50" 99 (39"
(2 PLACES)
12,0 12,5 ( .492") X 12,45
= 4 2,5 (10" DP _\ (49"
; 8,7
15,0 (59" 12,75 (50 .
(59" N (50" [ 6o
\ =l | T 7S 7]
| N 30,0 z| ﬁ\-é P = = '
YN . 21,0(.83" | i 25,5 (1.00")
230 $ ALY \i¢-_L 1 7 J
(87) e = 1 f i , ==
1 Y
10,5 (:41%) SENSOR TRACK .
4 - 60247 / (2 PLACES, (2C Ptfggs)
\ "B" TAP THRU 90 APART)
=l == 120(47) (4 PLACES)
10,5 (417)
"D" TAP X 5,8 (.20") DP .
(4 PLACES) 21,0(.83"
SENSORS SOLD SEPERATELY
- @] x [ - OO0 [ T B
MODEL ~ BORE STROKE  TYPE  MOUNTING OPTIONS '(-S"\é'l'ETCSET'\ASngSPAGE 54 FOR DETALLS)

71

15mm - 50mm STROKEJ
(SEE CHART ABOVE)

BLANK - NO CODE
D - DOUBLE ROD
(SEE PAGE 64 FOR DETAILS)

MR - REAR MOUNT
MS - SIDE MOUNT

FR - REAR FLANGE —
PR - PIVOT REAR

EM - INCH THREADS & PORT OPTIONS:

HS - HIGH TEMPERATURE SEALS OPTION:
(SEE CATALOG PAGE 62 FOR DETAILS)

BP - BLANK TOOLING PLATE

UB, UF, UR - URETHANE SHOCK PAD OPTION
(SEE CATALOG PAGE 62 FOR DETAILS)

(SEE PAGE 58-60 FOR DETAILS)
WwWw.COmMOosO0.com



72

Rear Mount Cylinder "MR"

MODEL | TYPE [ STANDARD STROKES "A" PISTON AREA Standard Threads | "EM" Option
15mm 'B" M6X1,0 1/4-20
25mm PUSH 19,63 cm (3.041in ) "C" G1/8 PORT 1/8-27
LC _D 40mm 48,5(1.91") D" M8X1,25 5/16-18
50mm PULL 17,62 cm (2.73in ) "E" M8X1,25 5/16-18
75mm
f— "A"
+STK. "
TYPE D 63,0(2.48
61'0%30") 15,0 15,0(59") (SQ. )
' BT | [ +STK 00
50,
315 . —
(1.24" 12,45 o (1.97)
— |~ 15,75(62" (:49") l-— 6,5(.26")
10,9(.43")
. 16,0( .631") X (2 PLACES) 65
B" TAP THRU 2,5(10" DP (27
(2 PLACES) 8,7(.34"
W 15,75(.62") | r® (:347)
= P é —LL o D T 3% @\ﬂ} 1
" Zl I'e; A X " v 50,0
25,5(1.00") KO T 31,5(1.24") Q '\Ei/ (.87
f l /110 ] = - :
12,75(.50") Y SENSOR TRACK "G" PORT
(2 PLACES, (2 PLACES) . "
"E* TAP THRU 90 APART) (SPIAAZES?“”Q )bP
(2 PLACES)
12,75(.50")
25,5(1.00")
Side Mount Cylinder "MS"
MODEL | TYPE | STANDARD STROKES "A" PISTON AREA Standard Threads| "EM" Option
15mm "B" M6X1,0 1/4-20
25mm PUSH 19,63 cm (3.04in ) "C" G1/8 PORT 1/8-27
LC _D 40mm 48,5(1.91") "D" M5X0,8 #10-32
50mm PULL 17,62 cm (2.731in ) "E" M8X1,25 5/16-18
75mm
f—— ”A"
61,0(2.40") 150 +8TK. TYPED
sQ. oy — [ 15,0(.59")
: +STK
315
16,0( .631") X
3,0(.12") DP (1.247 1245 ]
— |~ 15,75(.62") (:49")
18,0 "B" TAP THRU 10,9(.43")
- T (2 PLACES) 16,0( .630") X (2 PLACES)
2,5(.10") DP
- |, 16,0(.63") W 15,75(.62") r 8,7(.34")
| -d’__;‘: | 25‘5 zl F’r\}é Ix 315 7/ @ !
_CE N 32,0 4 /
30,0 4 1 (1.26" (1.00" T ‘\_{ f (1.24") j
(1.18" RACE T ! l o)
8.0 12,75(.50") Y SENSOR TRACK "G" PORT
— (329 (2 PLACES, (2 PLACES)
"E" TAP THRU 90 APART)
. 160 (2 PLACES)
(63 12,75(.50")
"D" TAP X 7,1(.28") DP 25,5(1.00")

(4 PLACES)

il - G ¢ L

BORE

MODEL

.

STROKE TYPE

15mm - 75mm STROKE J
(SEE CHART ABOVE)

BLANK - NO CODE
D - DOUBLE ROD
(SEE PAGE 64 FOR DETAILS)

MR - REAR MOUNT
MS - SIDE MOUNT

FR - REAR FLANGE —

PR - PIVOT REAR

L -DILIL]

MOUNTING

(SEE PAGE 58-60 FOR DETAILS)
WwWWwW.COmMOosO0.Ccom

OPTIONS

SENSORS SOLD SEPERATELY

SKS, SKP, SCS, SCP - SOLID STATE
LIMIT SENSORS
(SEE CATALOG PAGE 54 FOR DETAILS)

— EM - INCH THREADS & PORT OPTIONS:

— HS - HIGH TEMPERATURE SEALS OPTION:
(SEE CATALOG PAGE 62 FOR DETAILS)

— BP - BLANK TOOLING PLATE

— UB, UF, UR - URETHANE SHOCK PAD OPTION

(SEE CATALOG PAGE 62 FOR DETAILS)




Rear Mount Cylinder "MR"

MODEL | TYPE [ STANDARD STROKES A PISTON AREA Standard Threads | "EM" Option
15mm "B" M8X1,25 5/16-18
25mm PUSH 31,17 cm (4.831in ) 'c" G1/8 PORT 1/8-27
LC _D 40mm 57,0(2.25") D" M10X1,5 3/8-24
50mm PULL 28,08 cm (4.341in )
75mm
- A 6,0 76,02.99")
74,02.91") +8TK. (24") sa.
SQ. 15,0 TYPED
w— [ " 60,0
38,0 (599 — [— 15&?? @36 [T
(1.50") 12,45 80
— | 19,0075 20— N
(499 12,7(.50") (82)
22,0( .866") X ] (2 PLACES) 00
2,5(.10") DP (32"
; 22,0(.87")
W 19,0(.75") r |
| ©], . B % X‘ 1
1z ﬁifﬁ 7¢ ¢ 1 60,0
31,5(1.24") i 38,0(1.50") z g (2.36")
T, i
f T 7
T e oY
15,75(.62") Y SENSOR TRACK "C" PORT
(2 PLACES, (2 PLACES)
"B" TAP THRU 90 APART)
(4 PLACES) "D" TAP X 23,9(.94") DP
15,75(.62") (2 PLACES)
31,5(1.24") -—
Side Mount Cylinder "MS"
MODEL | TYPE [ STANDARD STROKES "A" PISTON AREA Standard Threads | "EM" Option
15mm "B" M8X1,25 5/16-18
25mm PUSH 31,17 cm (4.831in ) "C" G1/8 PORT 1/8-27
LC _D 40mm 57,0(2.25") 'D" M5X0,8 #10-32
50mm PULL 28,08 cm (4.341in )
75mm
oA
+STK.
74,02.91")
sQ. 15,0 TYPED
(59" = ] __ 15,0(59")
20,0( 788" X (1358(’)% +8TK
3,0(.12") DP i . 12,45
—] |=—— 19,0(.75") 49 1 ™
25,0 o 12,7(.50")
] = (98" 22,0( .866") X (2 PLACES)
2,5(.10") DP
! . 22,0(.87")
3 20,0(.79") w 19,0(.75") I
] | 0] ==
7 40,0 31,5 z| ,f\(é X 38,0 /7@ ¢j !
80 Ty asm) (1.24") T, T s,
: X6
(1.50") 7 i f f ] | QFT\'
12,5 15,75(627) v SENSOR TRACK “C* PORT
T 7 (49 "B" TAP THRU (2 PLACES, (2 PLACES)
90 APART)
L a0 (4 PLACES)
(987 15,75(.62")
"D" TAP X 8,6(.34") DP 31.5(1.24°)

(4 PLACES)

) - (2 %]

STROKE

M

ODEL BORE

15mm - 75mm STROKEJ
(SEE CHART ABOVE)

L]

TYPE

-1

MOUNTING

OPTIONS

[]

SENSORS SOLD SEPERATELY

SKS, SKP, SCS, SCP - SOLID STATE
LIMIT SENSORS

(SEE CATALOG PAGE 54 FOR DETAILS)

— EM - INCH THREADS & PORT OPTIONS:

— HS - HIGH TEMPERATURE SEALS OPTION:

BLANK - NO CODE
D - DOUBLE ROD

(SEE CATALOG PAGE 62 FOR DETAILS)

73

(SEE

PAGE 64 FOR DETAILS)

MR - REAR MOUNT
MS - SIDE MOUNT

FR - REAR FLANGE —
PR - PIVOT REAR

— BP - BLANK TOOLING PLATE

(SEE CATALOG PAGE 62 FOR DETAILS)

(SEE PAGE 58-60 FOR DETAILS)
WwWw.COmMOosO0.com

— UB, UF, UR - URETHANE SHOCK PAD OPTION



N EW THI NKH NG

1307 S Highway 11 ¢ Walhalla SC 29691
800.229.4955 ¢ Phone: 864.638.9521

Fax: 864.638.7903 e Orders: 800.229.4955
www.nasonptc.com

WARRANTY:

It is the sole responsibility of the user to determine the suitability of any product or information
supplied by Nason for any application or use by the user.

THE FOLLOWING IS IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING
THOSE OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE.

The Nason Company warrants each product to be free from defects in material and workmanship
under normal use and service. Nason’s obligation under this warranty is limited to repairing of or
supplying, at our option, a part or parts to replace any defective part(s) within one (1) year from the
date of original sale. Wear components including but not limited to seals, wear bands, and bearings
are excluded from this warranty. No product will be returned without prior authorized approval. If
authorized, the transportation charges are to be prepaid to The Nason Company, Walhalla, SC.
Unauthorized returns will be returned freight collect. The provisions of this warranty will not apply
to any part(s) which have been subject to misuse, negligence, or accident, or which have been
repaired or altered outside of The Nason Company service department in any way so as in the
judgement of Nason to adversely affect its performance, stability, or reliability. The Nason Company
neither assumes nor authorizes anyone to assume for it any other obligation or liability for any loss
or damage either direct, incidental or consequential resulting from or arising out of or in connection
with any of its defective part(s). Nason will not be responsible for any labor or other charges in
connection with the removal of a product deemed to be defective or for installation or replacement
of a defective or repaired product. Buyer’s sole remedies are as provided herein. In no event shall
Nason be liable for any cost of Buyer’s cover, or for any indirect, special, consequential, incidental,
or punitive damages of any sort, whether based on tort or breach of contract and/or warranty.

NAS-CYL 6/10

Request Nason’s catalog
of custom engineered
switches by calling toll
free 800-229-4955 or
visit our website at
www.hasonptc.com

Pe——)

i P

—





